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B 2% R2Z6]a] R3ZE1[A] R3ZE2[A] R3% 3[A] R3ZE4[H] R3ZE5[A] =%
Total | Point| Total | Point| Total | Point| Total | Point| Total | Point| Total | Point | Point
1 &I BEHZHI 14 48 80 46 80 39 71 38 70 49 71 45] 265
2 1% & — BR|K E Wi cC 79 31 84 32 11 47 76 43 75 46 14 50{ 249
3 B = BIK E W CC 71 42 82 40 79 44 81 29 82 28 76 471 230
4 & 1 2 Eh[E JiI__CC 70 50 85 22 83 29 14 48 18 43 82 271 219
5 A0 A B #BAEYTIL 31 43 31 37 76 43 72 48 71 45] 216
6 [/MiE #LBHIALRXE 82 17 83 36 79 44 12 50 84 25 18 40] 212
71 |EAH AR X[AEUYTIL 31 22 31 43 83 29 76 43 80 33 82 271 197
8 | K% B A[XE WLCC 78 50 14 48 14 47 76 47] 192
9 M X FEIAEYTIL 79 31 84 32 83 29 81 29 18 43 83 211 185
10 [ #h B X|t> bl 83 36 78 46 76 43 78 43 85 13| 181
1M | A KXKFMEIIGC 78 34 83 36 13 50 81 20 79 36 176
12 [ B B A[AEYTIL 80 26 89 12 84 23 81 29 69 50 80 321 172
= %% W =E|la— kBl 80 26 84 32 75 49 80 33 80 32 172
14 1# K B £ GC 71 42 84 32 78 46 31 29 83 211 170
15 (TR § F|la— kBl 14 48 79 49 84 23 75 49] 169
16 |E W Xk &FHIF+LXE 73 49 84 32 79 36 75 49] 166
=28 FAAEUTL 11 42 85 22 86 Ji 82 25 18 43 82 271 166
18 |9 JIIl  IF #|Z74+ L X b 82 40 82 33 71 38 717 45] 156
t B FlIAEUTIL 79 49 82 33 80 33 87 20 83 211 156
20 [& KX 5 S| Al CC 82 40 85 16 75 45 88 16 79 36 153
21 | & — JElE N CC 76 44 92 6 83 29 82 25 82 28 36 12] 144
2120 FEBRBREL£FBH 75 46 19 49 84 23 84 16| 134
23 |5 1B Z|THRRE 717 42 31 37 83 21 80 321 132
24 188 K K [ £ GC 80 26 92 6 75 49 71 45] 126
M H R AZE N CC 80 46 79 44 79 36 126
26 [l B {1 F|[BIlEHT 82 40 71 38 18 43 88 4] 125
BE & fl(# = H T 18 34 81 43 83 21 84 25 39 2| 125
28 |53 RAPE £ G 75 46 83 36 85 16 83 21 119
29 /M B ElEllf~T 84 23 82 25 79 36 80 32f 116
I [HE B —[TLXGC 76 44 38 14 717 45 87 6] 109
+ B B &F# Al CC 71 42 84 32 79 35 109
2 |& % E {Z[H A CC 80 26 83 21 82 28 82 27{ 102
¥[8 & BT L— krelil 81 22 85 16 85 12 92 11 18 40] 101
£ Il & ZzBlsrT 83 29 79 35 88 16 83 211 101
B[t B SIAE JIl G C 81 22 85 22 85 16 79 36 96
6 |RH EZ[AEUTIL 90 11 79 44 88 3 79 36 94
31 UERXKR REZ|ZFE NIl _CC 86 2 91 9 84 23 83 21 80 33 88 4] 92
38 | W 2K E 1 CcC 14 48 18 43 91
KA I R[AEUTL 31 22 80 46 85 23 91
40 [HE F EBXE LG 79 31 85 16 85 12 88 16 86 12 817
MR FEHAEUTL 85 6 36 17 85 16 717 45| 84
42 ;& B 3 BB JIl G C 78 34 82 33 86 12) 79
B IRHEH EFEHAEUTIL 84 32 81 29 84 16] 77
KiTH BE#E[FL—rEI 85 6 87 15 86 Ji 82 25 86 22 89 21 711
b HRA =BlaF A # 11 42 80 321 74
46 [# L ZlReNt=-n3 88 14 83 21 88 16 83 211 72
47 |88 K = | Al CC 84 32 82 33 65
E A& _Hw G CcC 71 42 84 23 65
NI T HEZFEHI 91 9 83 21 80 33 63
50 [E B B X[ Al CC 36 Ji 78 43 36 12 62
51 |1 B FE[MAEUTL 88 3 71 45 86 12| 60
52 |5 ¥ # BA|X E WL CC 79 44 84 14 58
53 |5 & % #i[e )il G C 84 11 92 6 81 37 54
5 [ H Mz oANwy 79 31 85 22 53
5 B B R A[XRIRKRE 87 5 87 20 82 27 52
56 /MNBF Bzt Bl 82 17 80 33 50
b #& Bl > kel 36 17 80 33 50
58 |fh IE BT LXGC 85 12 80 33 45
5 [ F #®w > B 76 43 43
60 fEAK FH|IMWIJIG C 82 17 98 9 84 16] 42
W ZE|K E 1LCC 11 42 42
62 | K KER|FE JII_CC 18 40| 40
EH BERTIRRS 84 11 86 1 86 22 40
ff  E B+ L XK 78 40| 40
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Total | Point| Total | Point| Total | Point| Total | Point| Total | Point| Total | Point | Point
66 5T O & BBlihT 85 12 82 271 39
& ww =7+ LR} 80 39 39
67 |\ — BR|#& Bl CC 91 9 83 29 38
68 |/ H  F —|FE Ju_CC 81 37 37
69 |f& & & Bi[o— 84 32 32
SR E IR 84 32 32
1 |T Bk Fa|me)l f=h g 84 23 99 8 31
72 1% I CHEHEEHI 86 2 92 6 86 Ji 84 14 29
73 [/ ¥k JK JA|# Bl CC 81 22 81 6] 28
74 15+ W 2 £ GC 92 6 86 Ji 85 12 25
75 | # Z|mit=hv 85 6 92 6 86 12| 24
76 |4 1B BB )l B B 85 22 22
171 |= 83  ffi K[FE Nl CC 85 16 87 5 21
8 |Z£HE Z FTiRERE 82 17 38 3 20
= #  sh BA[MBIEA,T 87 20 20
i K OEE £ G 82 17 88 3 20
1 [ KT 5 =2FQa# 90 11 86 Ji 18
82 [F % WMHBALKEFLHE 86 7 97 10 17
i AR RS 82 17 17
84 |& & 18 Jl|Ellt=nrT 85 16 16
X% HEEBIGC 85 16 16
86 |#0 R & =E[E B A 89 12 12
87T |F A & A[BIJI G C 84 11 11
NS — 2Z(BIE B 84 11 11
m H FFBFITIRRE 84 11 11
90 | K FE Z|[7+xL XK 86 Ji Ji
b Hx EIXKE WucCC 86 Ji 7
922 (EK #HBRMBEIGC 85 6 6
93 [#& E B|IAEYTIL 86 2 2
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Total | Point| Total | Point | Total | Point| Total | Point| Total | Point] Total | Point | Point

1T |RHE B BIAEIYUTIL 71 8 82 9 82 9 78 9 77 9] 44
EH E—IAEUTL 78 Ji 81 10 90 Ji 76 10 73 10| 44

2 (B MEhAEUTL 81 6 87 Ji 82 9 84 8 81 7l 37
S |BEE HE|BIIGC 86 5 88 5 91 5 84 8 80 8| 31
4 |[F K M Al Ll 75 0 82 9 75 9 28
5 | EM  F BEIEI G C 86 5 87 Ji 80 10 22
6 [Fa  FF Bl el 76 9 72 10 19
1 188 & 1Z| £ & &l 86 5 85 6 11
=2 E M Z|& B C 92 4 90 Ji 11

8 |& B f8 Al Al CC 95 2 103 4 6
9 4t B IF #[t2 R~ 92 4 4
10 |/ #8 IF Bi# Al CC 103 1 1






